W = D W N =

W N =

2018%F EHFvLUOTZAKREHHAEHE (1)
(EE6FM 6A38 F#128)
(R&%H: FHFELYY )

hERT
AJAvY 1 EE 28K (3 R BB | B
HiE ACE Tennis Club 8—2 8—5 2—0 1
BA EHE  svyLszayy—r| 38 7—9 0—2 3
EL N Nogizaak—yvem] 98 9—7 1—1 2
Ox@ Ox@ OB Oxt@ Ox@® OO
LT
B7AvY 1 ED |2 |3 2% M | B
Bl BRE F=ZTALRRADH 7—9 8—0 1—1 2
B =h g4z7=z225—1|9 —7 8—3 2—0 1
EH & 18R R 0—8 | 3-8 0—2 3
Ox@ x@ OB Oxt@ Ox@® OO
s BT
(o) =% 1 X% |2 £E [3 E B | B
XEF BA JARTFZRRT—)L 9—8(7) 8—1 2—0 1
HIE WA HLTC 8—9(7) 8—0 1—1 2
B ZH gazxz=zzs—n] 178 0—8 0—2 3

O OB OO




